FTH2FEELURISFARALEER

2BFINFRE —RAFEEIREREIKR ($F24528258 EFHRE)
w2 |HEBAZAE
By 53 #zl2 ® - a2 — x| m£xs ﬁégg EMERV- | SEELK fEE e
BEAH
A =|EERH 160 12 148 144 0.97
T 2ER 30 13 17 19 112
LEF 120 - 120 114 0.95
E HLAKFE 40 13 27 19 0.70
EFRER 40 20 20 25 1.25
yil E|EEE 160 - 160 156 0.98
L 80 22 58 64 1.10
B E I X[EBESH 40 5 35 20 057
TEHRIRER 40 4 36 29 0.81
ZEE 80 - 80 76 0.95
& m R 40 15 25 26 1.04
‘ GE3D! 40 13 27 30 111
EER 40 20 20 37 1.85
+ h[REER 160 34 126 106 0.84
i m ZaEE 120 - 120 107 0.89
HEXEE 40 14 26 26 1.00
EMEER
h & B EEETHIUH 90 21 69 23 0.33
N Ei i
J\ E|E&F 160 20 140 126 0.90
E W fE[EERE 160 - 160 157 0.98
EEE 200 - 200 121 0.61
= n (BRI R
BHHEZH 80 - 80 193 2.41
)O‘c*i%ﬂﬁﬂ
....... B 200 - 200 93 047
= W o IR [?‘"‘?ﬂﬂ?—ﬂ]
BHHEZH 80 - 80 198 2.48
AXH LR 2R
ZaEE 120 24 96 174 1.81
= u_l ;": I::ILB %E*SI—(P-F:%:I—X) (40) (24) (16) (11) (069)
= SRR 80 32 48 95 1.98
BT AR 40 20 20 29 1.45
b T PR 80 27 53 80 1.51
ETFHEMIZE 40 15 25 54 2.16
=T I T % EEIFH 40 12 28 27 096
= BRIYH 80 26 54 77 1.43
EET PR 40 16 24 30 1.25
T RITZFH 40 8 32 40 1.25
B 80 40 40 46 1.15
= EfRE &R 40 18 22 12 0.55
=dm\x SEHE 80 33 47 29 0.62
[EERLIER 80 36 44 32 0.73
= s o, [RREZER 160 50 110 153 1.39
B LT A EER 40 15 25 21 0.84
= W = ZEE 240 14 226 248 1.10
= TEE (BARFI—X) (40) (14) (26) (18) (0.69)
E W FEEas 240 6 234 268 1.15
=1 BB 230 18 212 195 0.92
B LaERE (FEI—X) (30) (18) (12) (7) (0.58)




T

2FEE W

2HEFAINERE —BAFERIRERIRR (G252 8258 EFIBE)

X . g | wmaz [EELEPE
£ 1 &l M - 23— X BERA | oL |FRERLE | SEER fa% wE
HEAK
/I AT 160 37 123 125 1.02
PN wlESEEE 120 12 108 101 0.94
25 &5 ZEE 120 - 120 151 1.26
EEXE 40 18 22 31 1.41
EEE 200 - 200 182 0.91
= i | R FEL
BHEZRE 80 - 80 120 1.50
A SRR
L 40 11 29 27 0.93
BFHEWE 40 18 22 33 1.50
BIE 40 13 27 36 1.33
= M I E[EEFH 40 18 22 32 1.45
T RIREHR 40 18 22 41 1.86
I=% 30 14 16 39 244
THA feERE 40 20 20 23 1.15
mEEER 80 40 40 50 1.25
= B3 s 40 15 25 16 0.64
BB Ry 40 20 20 16 0.80
TERANEE 40 20 20 19 0.95
X KEERXRE 120 22 98 67 0.68
= WM EEER 160 14 146 155 1.06
=2 it | EE Al 160 18 142 146 1.03
ZaEE 120 - 120 121 1.01
BEXEREEH 20 5 15 16 1.07
ik R RZER 20 6 14 16 1.14
EJRAE 40 20 20 15 0.75
HEEUE 40 10 30 19 0.63
il R EEFR 200 - 200 231 1.16
L 80 23 57 67 1.18
mOE I ¥E|ELRE 40 11 29 38 1.31
EFE 40 16 24 27 1.13
ZEE 160 - 160 154 0.96
= mz| BT 30 14 16 10 0.63
Mo B 30 14 16 31 194
kR 30 15 15 8 0.53
B W F[EER 32 - 32 26 0.81
5 % ZaEE 160 - 160 197 1.23
EEE 40 20 20 23 1.15
= ] 34kk82FF} 6,662 1,118 5,544 5,928 1.07
GE)SEORKREHDRAIZONT
O 1EXILHAKRTIEER XL, EEHOREELTRL, FREUZT AN,
Q@ HhREEEROEYEER -BETHFIUR- N\(4HHFRIE, 3FREMZS,
@ BILEK. B EHER. BEEROBRRHFR L. B RHEAXHLSHFHOBITTHY ., 255 &

LTW%,

@ BAERE

EBRHCDOVTIE, BEEEDIL5ZEREERDZITANZLET D,




2 HEHDRE —BAFERIFSERR (FH2528 258 IEFIRE) (KFERBD

s m 5 | wmaz [EBLEPE
X % B B mmEa | poug |EgEBOc| sEEx | 6= %
BEAK
3 ] 3 3,622 138 3,484 3,443 0.99
E T 8B Z ® 240 0 240 511 213
5] [ Fl 150 36 114 77 0.68
=3 ES 31 170 53 117 89 0.76
7K E %l 60 26 34 53 1.56
T = Fl 1,070 357 713 924 1.30
i) £ Fl 680 313 367 348 0.95
X E 31 120 44 76 70 0.92
g #l 40 15 25 21 0.84
12 Ak | 30 15 15 8 0.53
B &§ % # 480 121 359 384 1.07
& =t 6,662 1118 5544 5928 107
(BE  FRFEAFZEER)
2 g = | wmaz (ERLEPE
K 2 B A BREA | by |FHERLE| TEER faE e
BEAH
3 ] 3 3,821 148 3,673 3,756 1.02
B E B = # 240 0 240 459 1.91
3 %} 150 31 119 114 0.96
= E S Fl 170 44 126 91 0.72
7K 3 Fl 60 21 39 57 1.46
T ¥ Fl 1,030 330 700 869 1.24
[i5] ¥ Fl 680 298 382 472 1.24
ER = 1 120 49 71 91 1.28
F= E 31 40 15 25 50 2.00
&2 1t El 30 15 15 12 0.80
% & F # 440 111 329 375 1.14
= T 6,781 1,062 5719 6,346 111
SH2EEE LRI SFERAZE EIREEF ORIE (BEALH TS 1 ER)
e 53 = I R HExE | SEER | sEEE e
@R (RREIEAR IE) | 9 40 22 0.55
sy me| BEE (REEMH DA | #) 40 10 0.25
W &) B b k) |8 40 1 6,03
B ER (RREMH 1) | 25 40 4 0.10
TER (REEAHE ISR | 9 80 83 1.04
T@R (RREEAH IR | %5 40 31 0.78
i3 | 2@ 7 (7R R B s ) %9 80 3 0.04
ERE SR RE (RRIEAED | 9 40 1 0.03
HECE (RRBH 15 | % 40 32 0.80
@R (RREAH I ER) | £ 40 48 1.20
L@ R (REEALH]) % 40 3 0.08
+ = it EfSZER (REEBEAF]) | £ 40 2 0.05
=R P lsE Sn b (RE S T8 | &5 40 16 0.40
ERE KRR (RS TS | 9 40 7 0.18
EECE (RREBEH TS | £ 40 21 0.53
M K E =EER REEAH) 5 40 12 0.30
LEf (RMEEAH IE) | % 40 17 0.43
& G o H FHIEZER(BRMEBEMAFIIE| £ 40 5 0.13
BEELE (REEEF 1) | 5 40 2 0.05
&5t 5125 % #9840 320 0.38
(BE)VMEEE 58125 #5840 322 0.38




